© Copyright : Gatic Pty Ltd - 2015

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
- B 72
(I DIIC IIC )| END) N
— - - — )|
ol PO 008 E 50 0000000 (° T
NI O e E K
JRONE FOXOON 105 PAOXH OO
go OO<><><><><><) VAVAY, V<>V<>(><><><><><> <><><Z$} . )
TO000000000008 00N, —
RITOAROANOANOONOH .
= S»OOOOOOOOOOOOOO@@M@ = 55 |=|
U000V EO0G |
NN XN -
L | o000 00 .
POOOLL, i e OOOOOL |
A LU 00" m S04 _esspzisin (07 00 I
Lol i S S aw e v ||
s 1T
\¢ \I!( IC IC | B!I( )
~— B SECTION B-B _
690 NOTE:
8 only of M10x50 Hex head
840 bolts required for assembly
C/W washers and nuts.
Item Drwg. Rev. Title Material Qty Mass
No.
1 2188 C 610x457 C/O Solid Top Cover Class D | Ductile Iron 500 - 7 1 53.5 kg
2 1681 A Plastic Keyhole Plug UV Stabilized Nylon 4 0.0 kg
3 4004 B 610mm Draw Cut Bar Class D Ductile Iron 500-7 1 11.3 kg
= e e e 4 4007 B 610mm Under Cut Bar Class D Ductile Iron 500-7 1 9.4 kg
o o’ NAL! H ’ ‘g’ I I%@ 5 4001 C | 457mm LH Side Bar Class D Ductile Iron 500-7 1 7.7 kg
N 5 = 7| 6 4002 C | 457mm RH Side Bar Class D Ductile Iron 500-7 1 7.7 kg
610 C/O 7 2856 A M10 Washer Nylon, general purpose 2 0.0 kg
SECTION A-A 8 2857 A M10x65 Socket Head Cap Bolt Stainless Steel, 304 2 0.1 kg
9 2855 A M10 Washer Stainless Steel, 304 2 0.0 kg
10 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
UNLESS OTHERWISE STATED | jygaR MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening BY DATE |°GM301564D|™ 610 x 457 C/O SOLID TOP COVER & FRAME
% ALL MEASURES IN MILIMETERS. X.  %0.25mm E DESIGNED: - - SoALe CLASS D - ASSEMBLY
z om0 SOM s o s g GATIC = J{Si=]co e ey — [~
o[ A | 300115 |initial Release FM. | s.s. | casTinG RADIL: 3 mm Q!\‘GUUE.I\Q"ACHINING TOLERANCE: fﬁ;LHvﬁhganleo?GAAﬁgssoéALlNG GREASE TO BE ;5/?;' ;Edm;ﬁ 312, Reservoir VIC. 3073 THIRD ANGLE | Crecked ] SS. [ 30:01-15 - ORG-No Rev:
No | DATE DESCRIPTION BY |CKD. | DRAFT TAPERS: 20 XX 0.1° APPLIED ON ALL MACHINED SURFACES. | 3 0099 www.gatic. PROJECTION [ wwoveo:| H.B. | 30-01-15 [ 10f 1 5070 A
1 2 3 4 5 6 7 8 9 10 11 | 12 | 13 | 14 | 15 | 16




